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B3 —2 BEMICERTHILBESNOEEICE I HEE1/1) _ _ RAEFE | FRR2OFE
2MEFOME | BMES | 05752002 | B4 KR e e T SN
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ﬁg TREOBEBOSILHOKRES TERFDOHBEEILNOKRES TEFEOBEBOEILHOKRES TREOHBEEILADKES
7 100kN/m##8%2% | 1.00 | 000 ~ 315| 150.34 |3mEFBZ25| 000 ~ 022|311 16.67 | 100kN/mi%#825 | 1.00 | 1055 ~ 3000| 150.34 |3m&E#BZB| 25,00 ~ 30.00| 3.11 16.67
s 1.00 | 315 ~ 1094 100.00 | =4t | 022 ~ 1094 3.00 16.05 st 1.00 | 6.00 ~ 1055 100.00 | =nst | 6.00 ~ 2500 3.00 16.056
2 100kN/m%E#BZ25| 1.00 000 ~ 1.77| 12719 |3mEEZS ~ -] 100kN/ %825 | 1.00 | 1061 ~ 1673 12719 |3m%EiBz% ~
s 1.00 | 1.77 ~ 956 100.00 | =45t | 000 ~ 956 | 245 13.10 st 1.00 | 6.00 ~ 1061 100.00 | =nst | .00 ~ 1673 2.45 13.10
3 100kN/m%E#8z5 | 1.00 | 000 ~ 216 133.566 |3mEiBz% ~ -] 100kN/mZ#8z% | 1.00 | 10.64 ~ 20.00| 133566 |3mZ#Bz25 ~
s 1.00 | 216 ~ 995 100.00 | =nst | 0oo ~ 995 | 262 14.03 st 1.00 | 6.00 ~ 1064 100.00 | =nst | 6.00 ~ 2000 2.62 14.03
4 100kN/m%EBZ5| 1.00| 000 ~ 156 12385 |3mEEZD ~ -] 100kN/ %825 | 1.00 | 11.94 ~ 2099 | 12385 |3m%E#Bz% ~
s 1.00 | 1.56 ~ 9.35 100.00 | =nst | 0oo ~ 935 | 2.44 13.056 st 1.00 | 6.00 ~ 1194 100.00 | =St | 5.00 ~ 20.99| 2.44 13.06
5 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -1 3mEBZD ~
s 1.00 | 0.00 ~ 6.71 84.77 | #nLUS | 0.00 ~ 0.00 | 1.60 8.68 st 1.00 | 6.00 ~ 875 84.77 | #hUH | 5,00 ~ 875| 1.60 8.68
P 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -] 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.70 84.63 | ThLS | 000 ~ 000 1.69 8563 st 1.00 | .00 ~ 882 84.63 | Ths | 5,00 ~ 882 | 1.59 8568
- 100kN/mM%#BZ 5 ~ -|3mEBZD ~ -| 100kN/m#%#8% % ~ -|3mEBZD ~
s 1.00 | 0.00 ~ 6.70 84.61 | =St | 0.00 ~ 0.00 | 1.60 8.6 st 1.00 | .00 ~ 878 84.61 | =hd4 | 5,00 ~ 878 1.60 8.656
100kN/mM%E#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ FhLst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhst ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zhst ~ Fhst ~ Fhest ~ zhst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zhLst ~ FhLst ~ FhLst ~ st ~
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